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SCHOLASTIC APTITUDE TEST

Aferes Frvgar geEeT

Questions : 101 to 200

101.

102.

- 103.

104.

Which of the following contains
maximum number of molecules ?

(1) lg N2
(2) 1g CO:z
(3) 1g He
(4) 1g Oz

‘Which of the following hydrocarbons
have acidic hydrogen ?

(1) CH:=CH:
(2) HC=CH
(3) CHq
(4) CeHs

The pH value of a solution prepared
by dissolving 4g NaOH in 100 litre of

water 1s :

(1) 13 (2) 14

3 12 (4) 11

An atom of an element (X) has its K,
L and M shells filled with some
electrons. It reacts with sodium-metal
to form a compound NaX. The
number of electrons in the M shell of

an atom of element (X) will be :
(1Y 7 (2) 8

(3) 2 (4) 1
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105.

106.

107.

108.

An element which shows allotropy
when burnt in air gives a gas with
characteristic smell. The gas turns

ﬁblué litmus red and is used as an

insécticide. The element is :
(1) C
(2) N
@) P
4 S

Which natural indicator (acid-base) is
used in kitchens of our homes ?

(1) Sodium chloride

 (2) *Tea leaves

(3) Sodium carbonate

(4) Turmeric

Which of the following statement is

correct regarding metals and

 non-metals ?

(1) All metals are brittle.

(2) All non-metals are ductile.

(3) Generally metals are ductile.

(4) Non-metals ax_'é good conductor of

electricity.

Coal is called fossil fuel because :

C;Jal will become
completely exhausted. .

In future

(1)
(2) It was formed 300 million years
ago.

(8) Fossils are obtained along with

(4)

mining of coal.
It was “formed from the dead
remains of living organisms.
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109. An organic compound Butanal has

110.

11T,

112.

(1) Aldehyde
(3) Alcohol

The

* functional group :

compound

containing

(2) Ketone
(4) Amine

both

covalent and ionic bond is :

(1) MgCl:
(52 CaO
: Ig[atch the following :

(A)

®)

©

@)

Column -1

Strongest reducing

agent in solution
Shows inert pain effect

Forms peroxide on

heating with excess of
air
Used in photoelectric

cells

(1) A-iv B-ii C-i D-iii
(2) A-ii B-iv C-i D-iii
(3) A-iii B-i C-iv D-ii

(4) A-iii B-ii C-1

D-iv

One mole of NHz means :

(2) NH4Cl
(4) AlBr,

Column - 2

(1) Thallium
Caesium

(1)

(iii) Lithium

(iv) Sodium

(1) 2.24 litre of NH3 gas at STP

(2) 1.7g of NHs

(3) 6.023 x ‘1023 molecules of NH3

(4) 34g of NH3
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113. Rutherford's alpha particle scattering
experiment was responsible for
discovery of :

(1) Electron

(2) Atomic nucleus
(3) Proton

(4) Neutron

114. - Which period in the history of France
is reffered to as the 'Reign of Terror' ?
(1) '1789-1794 ‘
(2) 1793-1794 -
(3) 1793-1804
(4) 1789-1804
115. Who wrote the book "The Social
Contract" ? T
(1) Montesquieu »
(2) John Lbcke
(3) Rousseau
I(4) Abbe Sieyes
116. In 1920  Millitant Gﬁérri’ll"é

" Movement in Guden Hills of
Andhrapradesh (India) was lec._l-. ?y :
(1) Alluri Sitaram'Raju
(25 Baba Ramchandra_ '
(3) IBirsa Munda
(4) 'Diku and Kanu b
117. Who -fdundedl.lthe_ QOmmunigE,)Party

)

in Vietnam ?
(1) Huyunh Phu So
('2]) I;han Boi
(3) Ha Tinh
4) Ho chi Minh
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118.

119.

120.

121.-

122,

When did Muslim League celebrate

‘the 'Deliverance Day' ?
(1) 23.March, 1940

(2) 22 December, 1939 .
(3) 24 October, 1939
(4) 16 March, 1940

In which state of India are Gujjar-

Bakarwals largely found ?
(1) Rajasthan

(2) Gujarat

(3) Jammu and Kashmir

(4) Maharashtra

The Duma were council assemblies
which were created by : '

(1) Lenin

(2) Karl Marx

(3) Trotsky

(4) Tsar of Russia

The first Olympics were held at ;
(1) Athens (2) Moscow
(3) NewYork  (4) Berlin

US entered into world war-11 due to :

(1) Annexation of Poland by -
Germany

(2) Aerial bombing on London

(8) Japanese attack on  Pearl
Harbour

I(4) Non payment of reparation dues
by Germany
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123. Who wrote "Khadi is more of a 123. “@dl & ¥ FEl G:If‘?\-l'm",.@ EEIECIE(

' thought than a cloth" ? 3 9= fem R 7 e :
(1) ‘B. G. Tilak 1) o o fe®
@ M.K. Gandhi (2) TWo Fo e
(3) Sardar Patel - (3) WER 9
(4) Jawahar Lal Nehru | (4) STETEY §9 ATE

124. The very first section of the under 124. @@ ¥ gfFM W B FEE TN HET
ground train in the world opened AeTeT qun BT wie 7 F=l & B
between Paddington and Farringdon T 7
Street in :
(1) Rome ‘ 1)
(2) Paris o @ Wa
(3) New York (3) =gar | =
(4) London : (4) T

125. The earliest kind i:_)f print technology ‘125. R w9 F el THE TETIH el
was first developed in : fereféra g% 7
(1) India (1)
(2) France (2) wE
(3) Greece 1 ' (3) T
(4) China O ,

126. Select from the following a set of 126. Frfifag & & 390 €05 waa &

Kharif Crops only : (2 q=E g

(1) wheat, gram, mustard (1 A, =, v
(2) bajra, jowar, pea ' i s (2) 9T, S=IR, T{IETP"‘;"
(3) bajra, jowar, maize * | e R (3) 9™y, =N, m“
(4) arhar, barley, cotton ; (4) IAE, Tf?(, CANIES |
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127.

128.

129.

131.

What is the Long1tudma1 extent of
India ?

(1) -GT"S‘E —92°25'E

(.2) f68°7'E - 97°25'E

(3) 68°6'E—98°25'E

(4) 68°T'W —97°25'W
N.ew Moore island lie in :

(1) .Gulf of Kachcha

 (2) Bay of Bengal

(3) Gulf of Khambat
(4) Gulf of Mannar

The highest peak in the Western
Ghat is : :

Q@/Anai Mudi

(2) Doddabetta

(3)y Mahendragiri
' Jg Nilgiri

130.

In which of the following states is the
Chilka Lake located ?

(1) West Bengal
j(2) Odisha
(3) Goa
(4) Tamil Nadu
The average weather conditions of a

place throughout the seasons refers
to: 5%

(1) Cyclone -
(3) Weather

(2) Season
(4) Climate
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132. . According to the census of India-2011
which one of the following states has
highest sex-ratio ?

(1) Haryana
-~ (2) Kerala
(3) Himachal Pradesh

(4) Punjab

138. In which of the following states.is the
Pachmarhi bio-reserve located ?

(1) West Bengal
(2) Haryana
(3) Punjab

(4) Madhya Pradesh

184. 'Mahe' place of union territory of
Puducherry is situated in which
state ?

(1) Kerala
(2) Andhra Pradesh
(3) Tamil Nadu
.(4) Goa
135. In which of the follo;.ving states is
Laterite soil found ? '
(1) Karnataka
(2) Haryana
(38) Bihar
(4) Sikkim
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In which of the followmg stétes

17138,

up ?

(1) Karnataka

(2) Maharashtra "
(3) Andhra Pradesh’

(4) Tamil Nadu

187 'In ‘which country the 'slash’and!Barn'

agriculture is known as 'Roca’' ?
(1) Mexico

(2) Vietnam

(3) Brazil

(4) Indonesia

Tl

| 13I8I. Arthsastra is written by whom ?
(1) Kautilya
. (2) Machiavelli
(3) Chandragupta Maurya |
(4) Samudragupta
. 139, Whlch of the following doe§ i dp

fréure ;i preamb_le_
Constitution ?

(1) Democratic

(-2)' Secular

(3) - Republic

(4) Religious Justice
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141.

142.

143.

3 75

In which game P.V. Sindhu won the

medal for india

Olympics ?

silver in Rio

(1) Lawn Tenis

.(2) Badminton

(3) Wrestling

(4) Archery

Which in following statement is not -

true about President of India ?

(D

President is Constitutional Head
of India.

(2)

President presides over the joint

session of Indian Parliament.
President is indirectly elected_.

6))
(4)

President's tenure is 5 years.

Strength of members of Haryana

Assembly is :
(1) 80 (2) 90
4) 100

Which statement is correct about

.money bill in parliament ?

Lok Sabha and Rajya Sabhé have

equal powers.

(1

Lok Sabha has more powers than
Rajya Sabha.

Rajya Sabha has more pmirers
than Lok Sabha.

(2)

(3

(4) Lok Sabha has no power on

money bill.
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144.

145.

146.
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Which of the following statement is
correct ?

(1) U.P. and Bihar have bicameral

legislature.

(2p U.P and Haryana have bicameral

legislature.

(3) Bihar and Assam have bicameral

legislature.

(4) Bihar and Punjab have bicameral

legislature.

During Indian National Movement,

who gave two nation theory ?

(1) M.A. Jinnah

(2) Sardar Patel

(3) Liakat Ali '

' (@ Subhash Chandra Bose

Suppose a cduntry of 1000 people has
income from primar;
¥ 15000, secondary sector is ¥ 20000
and total national income is ¥ 500.00.
What will be per capita inboine of the

country ?
(1) 85
2) 20
(3) 35

4) 50

sector 1is.

(45)

144.

145.

146.

Pt § @ FE-|1 F99 a'a?%‘?'

(1)Wﬂ%ﬁTaf§I€RﬁﬁH§:ﬁqﬁfﬂH
Jqqr 2| :

(2)mu%srer€ﬁmvnﬁ€rﬁ$ﬁ#'

feumr | E |

(B)Wawnamﬁm.

q9T g |

(4)ﬁwawﬁ€raﬁr‘qﬁm
qa £

RIS 1 2 A e e B B
frer e Rar 7

(1) THolo R

(2) HER 9od

(3) fommend ofet

(4) GIW = 99

o ST 1000 T B wE 3w @

matE & | ST T 15000, a8

q oM T 20000 T FW TLA o

350000 B 39 29 @1 iy @R} o
F Rt 7

(1) 85
(2) 20
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147,

148,

149.

A bank manager Mr. Neeraj Kumar

sanctioned a loan of ¥ 250000 to-

* Mr. Brijesh Kumar for his personal

use .azid asked him to submit his
latest salary slip and photo ID proof.
What type of this loan is called ?

(11 Secured loan_

(2) Unsecured loan

(3) Collateral Security,

(4) ) Dem.and Deposit

Which of the following statement are
true about 'MRP' ?

(a) A seller can sell the products at.

MRP. .
(b) A seller can sell the product
below MRP. i

(¢) A seller can sell the products
above MRP. '
(d) MRP has no significance for

seller,
(1) a, b (2) b, c
(3) a,c @) e d

‘Mr. Anil Kumar purchased a house of
10 lacs, a car of T 4 lacs, a sofa set of
% 50 thousands and an air conditioner
of ¥ 30 thousands. What amount will
be called his investment in economic
terms ?

(1) T 14.80lacs

(2) T 4.801acs

(3) ¥10.00lacs

(4) % 14.00 lacs -
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152.

153.

150. A

151.

‘mill owner

sugar purchased

sugarcane from farmers,

manufactured sugar from it and than
sold it to wholesalers. Such kind of
activities comes under :

(1) Primary sector

(2) Secondary sector

(3) Tertiary sector

(4)- Service sector

Which of the following is an economic

activity ? 7

(1) A teacher teaching his son.

(2) Reading of a poetry by a poet
before his family.

(3) A farmer works in his field.

(4) A nurse serving her child at his

home.

Mr_Mehta is an industrialist and he
earns profit from his occupation. This
prtﬁ‘it is received by him due to his :

.(1) Entrepreneurship

(2) Capital
(3) Land
(4) Money

In Indian economy,
vegetables are determined by :

prices of

&1) The government

(2) The producer

(3) The market forces

(4) The capitalist

NTSE(Level-1) Exam. Nov. - 2016

150.

151.

152.

153.

(1) wathe &= -
(2)“%1@,%3{

(3) Tl &

(4) &1 &=

Frer & & - onifs TR ¥ 7
(1) T FEGH R A P H Gl |

@ @ B T A9 IRENK @ e

A
(3)@%&1?31‘{[34@@?1?3(%
HI o
(4) TF T W W W W T 3
AT HIAT |

ZEEE § @Y AT #2139 TN
U Y I FRE HIXT 9T el & 7

(1) It Fafam &
(2) T G &
(3) ITh qW |
(4) I 47 4

.ﬂn?ﬁuaaﬁamﬁﬂwvazﬁnﬁ

e g fifa i ot 8 °
(1) | |
(2) I

(3) AR ATt

(4) oty

" P.T.O.




154.

155.

The sum of the reciprocals of the

I:OOtS of the equation 1—0—1x + 2 +1=0
- - 123 X
is:
-101 . 123
1) —— 2) —
M 123 @ 101
3) -1 (4) 1

If x® + y = 2249, where x and y are
natural numbers and HCF of x and y

.. is not 1, then the value of (x + y) is :

156.

157

188.

“the

(1) 26 (2) 39

(3) 52 (4) 65

If a=v6-+11 and b=v6++11
then the value of (a+ b) is :

» V2

@ 2V11

@) V6

@ iz

If 2a%-2ab+b%+6a+9=0 , -the_n
(a+ b) +abequals: .‘
M 1 @2
@Bt ek

The sum of all the terms common to
arithmetic progressions
1,3,5, :..;.., 1991 and 1,6,11,
1991, is: !

(1) 199100

(2) 199200

(3) 199300

. (4) 200196
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12

1 1 2 2

3 3 (4) 4

gaiaT. At 1,35,

(1) 199100
(2) 199200
(3) 199300 -
(4) 200196




159. The number of 'xjeal solution of the

- 160.

161.

pair of equation x +y + xy = 19 and
x2+y2=261s:

W 1
@) 2
(3) 3
(4) 0

ax 9 4 bx® +cx—-11, where

If plx)=
a,b and ¢ are constants and
p(1042) =~ 32, then p(-1042) is equal
to:

(1) -10
@ -12
(3) 10
(4 32

The faces of a dice are marked with

numbers 1,1,2,4,5,5 and that of

another dice with 2,3,4,5,6,6. Both

dice are thrown together once. What

.is the probability that the sum of

numbers on their topsis even ?

L

2

(3)

o

4)

w |
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159. THH

160.

161.

c

TH & + y + xyl=~19 AR
25%@@%@#@@1_%_:

x2+ y2 =

(1 1
2 2
3) 3
4) 0
e p(x) =ax +5x +ex—11 % Wl

a, b ¢ 3T B ei‘ﬁp(lozxz) =_32%
79 p(-1042) TTET &

(1)
(2) —12

(3) 10

‘mIH

3

()

Cwles ol w=




162,

163.

164.

If a® = cosec ©® — sin 6 and b® = sec 6 —

cos 0 then the value of a*b® + a®b*is :

@® o

@ 1

13) 2

@ 3

When the decimal point of a certain

positive decimal number is moved

two places to the right, the new

number is two times the sum of the
original number and the reciprocal of
‘the original number. The product of
42 and the original numbers is :

(1) 3

(2 6

@ 7

(4) 14

A regular octagon is formed by .

cutting an isosceles right triangle
from each of the corners of a square
with side 15 ecm. The area (in cm?) of
the octagon is :

(1) 15(242 -1)
@ 15%2V2-1)

"(3) 15(242 -2)

L)

@ 15%2V2-2)
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162.

163.

164.

IR o = cosec O — sin @ A b° = sé'c -
cos08, A a'B*+a* WA E .

(1 0
@ 1
@ 2
(4) 3
v
99 R 99 S9Ted g & 39Mad
g @ o R & @ 0% TN
aa'as‘am RN e aur. s

E

% gepd & AN & M B I
| S T ol 42 & O 8

ml’)

1) 3
@ 6 y
@7 -
4) 14

15 cm YO R T o B FAF A A

% FHiEEE qE B R, 0

L 1 1 8 | 39 LY H
§%T (cm2H) B :

1 15(2v2-1)

@ 15)%(2V2-1)

(3). 15(24/2 - 2)

@) 15)°%@2V2-2)



165.

The -length (in cm) of sides .of a

“triangle i\al‘_é..pt?si“tive integers. If its
perimeter is an odd number and the
difference of length of two sides 1is
11 cm, then the possible length of the
third side 1s : ;

(1) 10cm
(2)” 11cm

(3) 12cm

(i

S T i EL)

AT gﬂ‘ 13;-9111. bynin

166.

167.
UUUKATL T KA and EI intersect at B

NTSE(Level-1) Exam. Nov. — 2016

-_ .
J

In @ ABC; :D and E: are the points on

.BC’ and AC. respectively. If AD and

BE 1ntersect at P such that ﬁ— 5
DP
BP

and — =7, than CD : BD equals :
EP :

(L 6.7
(2) 5:16

(3) 3_:'17

U B B : i

In a paraﬂe[ogram KITE, ZKIT = 75°,

where A is a point on IT.'IFEB = 2KI,
then the measure of ZKBE is :

(1) 62°
@ 65° (I
(3) 68° (

@ 700

\

TR T A LS e o

(1) 10cem
('2.)' 11 cm

(3) 12 cm

| .: £4) 13.cm bugin o' iy

166

f%xgrrr'ABc «ﬁgﬁrficéﬁ%mw
FAL:-D 791 E fag ¥ 1 3% AD &K BE

.I,.(R'{’CRPWQHWWW% fes

AR BP _ .
o 5@TEP 7 &, & CD : BD .
) 5:7
@) 5:16

(3) 3:17

v, - 3320,
gyt |
¢ KA LT, KA g EL fig B W wfaese

warz@j?rﬂmz ﬁzM’I‘—T’ﬁ"\ﬁl’{

'”'."“Zb'l'?f%ﬁgrfagz%‘gﬁﬂ*l'r‘ﬁﬁﬂﬁ%l

af% EB.= 2KI, 4'/KBE &I H19 ¥ :
1) 62°

@ 65° (i

(3) 68°

@ 70°

Pr T-'Ql




168,

169.

170.

171.

‘lrr.

The sum of all interior angles and one
exterior angle of a convex K-sided
polygon is 1350°, the value of K is :

@ 7 2 8
3) 9 (4) 11
The length of the parallel sides of a

‘trapezium are 14 cm and 7 cm. If the
length of third side is 8 cm and of

fourth side is x cm, the_n the number
‘of possible integral value of x is :

(1 12 (2 13
3) 14 4 17
If an arc subtendihg,an'angle of 75°
at the centre of a circle A and another
are subtending an angle of 55° at the
centre of circle B are of same length,

then the ratio of area of circle A to
that of circle B is :

(1) 11:15
(2) 11:25

(3) 121:225

(4) 121:625

In the figure, PQR is a semicircle and
ABCD is a square of side x cm, if the
area of the shaded part is (5n — 8)
em?, then the value of x 1s:

1 2/2
@ 4
3 442
4) 8
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168.

169.

170.

171

ngaﬁrwmw%aﬁéﬁff:
FIOT qUT TH aAREHT F A 1850° B,
K& 99 & :

(1) 7 2 8
3) 9 (4) 11
14cmm70mglﬁ?ﬂ'ﬂ’a'ﬂﬁf#

W@Scm%ﬁTa&ﬁﬂﬁTﬂ%m
xcm%ﬁx%ﬁﬂ?iﬂmqﬁ%:

(1) 12 2) 13

@) 14 (4) 17

R U A9 H FEE A IT AP R
X 75° @ B AT HE &, AT TH
Q99 H @R, N IH B B FE W
~ 55° & V7 AT B &, TET qUEK
TN IUAD dTHA B IT B D AR
mﬁ\ﬂﬂqﬁ% -
(1) 11:15

2 11:25

(3) 121:225

(4) 121:625

o ¥ PQR T% Hdgw & X ABCD
@ﬁ%ﬁﬂ'ﬂﬁﬂﬂxcm%lﬁ
S AT & ATEA (5n — 8) em?, ©
T xH 9T 8 ¢ '

D 22
@) 4
3) 442
4) 8




172.

173.

174.

In A ABC, D and E are the point on
AC and AB respectively. BD and CE
intersect at F. If the areas of AEBF,
ABFC and A FDC are 10 ¢m?, 20 ¢cm?
and 16 cm?® respéctively, then the
area (in cm?) of quadrilateral AEFD
is:

(1) 34 (2) 38
(3) 44 (4) 48
A right circular cylinder whose

diameter is equal to its height is
inscribed in a right circular cone of
base diameter 16 c¢cm and. height 3
times the base diameter. The axes of
What is the
volume (in ¢cm?) of the solid inside the
cone but outside the cylinder ?

both solids coincide.

(1) 296« (2) 512n

(3) 432 (4) 592 n

If the saliva is lacking in salivary
amylase then which of the following
processes taking place in the buccal

cavity will be affected ?

(1) Proteins breaking down into
amino acids
(2) Starch breaking down into

sugars
(3) Fats breaking down into fatty
acids and glycerol

(4) Intestinal layer breaking down

leading to ulcers

=

7
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172,

178.

174.

(3) 44

C

aABcﬁ‘ g D @R E #9: AC &K
AB 1% fRerg ¥ | BD 8K CE WX F ®
gfede FXd © | af« Bge EBF, BFC
AT FDC % &3%d HA: 10 cm?,
200m26ﬁ'{'16cm2% ﬁﬂ@'ﬁWAEFD
ST (cm2H) § ¢
(1) 34 (2) 38
(4) 48

% §@9 g ded Ree A e

 BUR % IR 8, UF o9 g9 9 @

g & fE% oY @ &MH 16 cm

T AR AR P A | g 7, A

ol & W WOl 81 A B SfEY A
W%Wﬁﬂ@ﬂm(em3ﬁ)%i

(1) 296 (2) 512n

(3) 432 = (4) 592 =

o X F A wmhe @ FHVY A
feg & @ 7@ To1 § #F @ ueRn
gefed Enft

(1) WERT @1 STl opal & ge

(2) ®rE @ qb3sl § g

(3) TEISA FT TGT T @ FAGIT—n

%:d?[
@) gifyg of w1 e R o @l
AT
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175.

176.

@

It has been found that people living
in’ very high’ mountains have many

~more RBC's in their bléod - than =
people-living in plains. Which one of | '

following reason is correet 7,

(1) The cold climate stimulates the
production of RBC'S to '_keep the
bodywarm. ' '

Pé'ople of high mountains breathe

()

more quickly. e B

The low air pressure  requires
more RBC's to supply oxygen to
Body's cells.

(4) The low air pressure in high
mountains speeds up the blood
circulation so thaji ‘more RBC's

are needed.

Which of the following gives the
correct sequence of. the composition
a reflex arc ?

(1) receptors — muscle — sensory
neuron — motor neuron — spinal

cord

(2) receptors — motor neuron -
spinal cord — sensory neuron —

muscle

cord —

(3) receptors — - spinal
sSensory neuron —» motor neuron

-> muscle

(4) receptors — sensory neuron —»
spinal cord — motor neuron —

muscle
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176.

(2) ST TEET H T AeE-oTe 919 A
gl

(@ P g T A i ) P

- offeRi omaft & R i a
T PR P SAELIRA B 2 |

@) 3 el W e ag e @
T (qfEed) & i s &
SR CE | A G B2 | i i
AT Bt & |

P § @ A A A F e ()

F wer A & 7

(1 RAed - A - T T -

| 2) ﬁ@ﬂzﬁ»ﬁawawﬁaﬁé

— A W—)’ﬁ'ﬂﬁ?ﬂ'

4

@) fAed > w@WETa #E - Tl
=R — AeX A > drest

1

(4) RAed » T =R - wEe

BE — AT AT L Hreash




177. The offsprings formed as a result of
sexual reproduction exhibit more
vafiations because :

(¥ Sexual reproduc_tion is lengﬁhy'

process. o

(2) Genetic material comes from _twd

parents of different species.

(3) Genetic material comes from two

parents of same species.

(4) Genetic material comes from

many parents.

178. 4The sex of a male child is determined
by which of the following ?

(1) The length of the mother's

pregnancy

(2) The length of time between

ovulation and copulation

(38) The presence of an X '

chromosome
(4) The presence of a Y chromosome

179. According to the evolutionary theory,
formation of a new species is
generally due to : '

(1) Sudden creation by nature.

(2) Accumulation of variations over

several generations.

(8) Clones formed during  asexual

reproduction.

(4) Movement of individuals are
habitat to other.
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178.

179.

C
177. e w9 @A W daly o
faftrad =il #a § it ¢

'(1) dfes I @t wfear B

2 = e & gra-Rar @ S-fes
yeref ST B

3) & & widiw & Aar-far § S9ke
qR1Y ST B | ‘

4) sgd § AE-far § Sefew gard
ST B |

Frr & @ BFed a0 @& R o= @l

 fofT raifa e @ 7

(1) AT & TR & q9F 99 |

(%mfﬁwﬁeﬁwﬁﬁaﬁrw
g | - |

(3) X oA F St &

(4) Y Tergs 1 Surany |

s R A & omER 7w
H e g w9 9 B ogeR @
BT §

(1)%f%rfrem gfte Prafor 3

.(2)a?§tﬁ1%&faasﬁﬁ=maﬁ%uasﬁa'

el |
(3) aﬁﬁmwi’f'ﬁ?aﬂ#ﬁl'

_(@W%@Hﬁﬁﬁﬁﬁ@ﬁﬁiﬂi’fﬂ'

= q 1

P.T. 0.
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180.

181.

The pH of a sample of water collected
from a river is found to.be 3.5 to 4.5.

The most likely reason for this is the

" waste being discharged into the river

from :

(1) Soap and detergent

manufacturing factory.
(2) Car battery manufacturing factory.
(3) Alcohol manufacturing factory.

(4) Plastic cups moulding factory.

Select the correct answer about

manure :

(a) Manure contains large quantities
. of organic matter and small

quantities of nutrients.

(b) It increases the water holding

capacity of sandy soil.

(c) It helps is draining out of excess

of water from clayey soil.

(d) Its

environment because it is made

excessive use pollutes

of animal excretory waste.
(1) a&e
(2 a&b?
B3 b&ec

(4) c&d
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180, @ T & @ BA q % T B

pH 3.5 ¥ 4.5 urar 1 s & BpE &

g el B T B 9 AeE @

gt ? *'

(1) ®g7F Rewte Fmfor &= ol
BT A |

@) FR B T I awrt Dt F

(3) UplEd AT HTH aren Gl 9 |

(4) TReH FO H A FAGwH
el ||

181, @E & @ A W-Wﬁﬂﬂﬁﬁ:

(@) @E § oty "mr & fF @ |
9 A § q9F T ol & |

(b) T I G& B A AHA S EHAT
T 2 | |

() 78 FrFdt gar & wrerg el e
% e Y ¥

(D) TR AR AN AERT

TEE wXar @ s T8 9y B
goeett avd g F & A B

(1) ad¥™lc
(2) ad¥b
(3) bd™le

(4) ctYId




182.

183.

184,

185.

(2) Shrinkage

Plasmolysis in plant cell is defined
as :

(1) Breakdown of plasma membrane

in hypotonic medium.

of protoplasm in

hypertonic medium.
(3) Shrinkage of nucleoplasm.

(4) Breakdown  of nuclear

membrane.

Tissue found in area of regular wear

and tear is :
(1) Simple squamous epithelium.

(2) - Stratified squamous epithelium.

' (3) Simple cuboidal epithelium.

(4) Stratified cuboidal epitheliﬁm.

Phylogeny is the study of one of the
following :

(1) Development of an individual.
.(2) iEvqution of species.

(3) Embryonic development of an

. ‘organ.
(4)” Ecological
4 6rganism..
Duckbilled platypus and echidna are :
(1) Réptiles -
(2)' “Eutherian mammals
(3) Egg-layirig mammals

(4) Young one producing animals
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183.

184.

185.

(1) eE9RIE Fe9g § < el &6l
T |

(2) BEWCMS wWeEH ¥ Sena @

frege |
(3) FRTEIEH ® e |
(4) Wf@lﬁﬁ%g@ﬂf

ﬁaﬁag—t@'aﬁ%ﬂﬁﬁqm'

g ®

(1) |ERT TR QiR |
(2) dguerd wEmEE e |
(3) IRV Fgaged QU | -

(4) WEwiE RgEEeT ThfdfEH |
%ﬂﬁéw%ramma‘wﬁ%;

(1) T g I e |
(2) Wi & e |
(3) TH ST F Yoy forewre |

@ WWﬁWﬁW@W‘TI

WWWWW%:
(1) Ty

@ TR T

(3) o2 3 I WY

(4) Rig ¥ T A g

P.T.O.

C.

182, WA @ UGy B § I TER
gRefye R o ©




Which of the following is mismatch ?
(1) Leprosy — bacteriai infect-ibn

" (2) AIDS - bacterial infection

(8) Malaria — protozoan infection
(4) Elephantiasis — nematode infection

187. Ozone hole over antarctica appears

during :

(1) Spﬁring
) Summer
(3) Autumn
(4) Winter

A bus moves over ‘a straight level
road with a constant acceleration a. A
boy in a bus drops a ball outside. The
acceleration of the ball with' respect
to the bus and earth are respectively :

188.

(1) aandg
(2) a+gandg—-a

(3) & g2 and g

(4) \Iaz +g2 anda

. 189. From an elevated point A, a stone is
' projected vertically upwards. When
the stone reaches a distance h below
A, its velocity is double of what it was
at a height h above A. The greatest

height attained by the stone is :

h B . 2h
W = @ Z
3 3 (g B8

4 3
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188.

189.

fret & & @19 T @ 7

@) S - S

(2) TEH - SErg §E

(3) HARET - ST HepHol

(4) TrHfeutE - FAdE HEA
;ﬁﬁ?éﬁd{d%féqﬂ 3 SR @R I

(1) T9=< #

2) A 3§

OIRCEER:

(4) wiEq

X O o ¥ TH g9 Ol gHad
ged W 99 @ 2| TF go g9 9
et U g PR &1 % &1 @ s9
F g g F U HAA BAT

(1) aT¥ g

(2) a+gddig—a

3) Ja®+g* g

@ Ja?+g? TMa ¢

R § Sag W Rad & fig A7 &

 ORR HUT & AR B T &S TR

il

g A®hg R ogo B 9 @
PG AR hHE FW B AT/ G
B ST B TR BN Y R S
ERIE

h 2h

(1 3 2) N

5h 5h

(3) - 4) ry
P

]



190. A block of mass m is suspended

191.

192.

1) The reading of A is greater

through massless spring balance as
shown in figure :

than B

(2) The reading of B is greater
then C

(3) The reading of A is maximum

(4) The reading of A, B and C are ©
same

If momentum of a giveri_mass of body
is increased by n% then:

© (1) ‘The kinetic _energy' ‘of bold-y

changes by 2n% when n<5.

(2) The kinetic energy of body
changes by 2n% when n>50.
(3) The kinetic energy may be

constant.

(4)- The kinetic energy must be
constant. s

A piece of wood is floating in water
kept in a bottle. The bottle is

. connected to an air pump. Neglect, the

cdmpre"ssibility-of water. When more

‘gir is pushed into the bottle from the
“pump, the plece of wood. wﬂ.l float

with :

(1) Larger part in the water.
(2) Leéser part in the wéter.
(3) Same'part in the water.

(4) Will sink to the bottom.
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190. m EFAM F TF Tl O 590 ed :
FAFER Gar & WCH I8

K& gaTAaeErnW Bf-’r
i

) T A, BT CH TEF
,ﬂrrrﬁérrr "
191. q&ﬁ;@ﬁﬁaﬁmﬁﬁw@ﬂ
H%W'W'MW@:
() 7w T 2n% BN UREfkid &
: ST 3 n<s B
(2 T ST o2n% @ ofERdd &
WG A n>50 B |
(3) it Fort R St & el B

_(4) i el X gy B "Ry

192. [l siae ¥ g ot & ool &1 @
EH T WY AW @ ag e |
LT T R AR o W s @

L O R e T T W Ao d AR

v ag B S q WSl B[R AT '

LA - T

JTand

(L T F g = AT
(2) I F FE AR 9 A B
(3) trr:hawﬂ‘aﬂ%amwﬁﬁl

(4) %Wﬁ@ﬁrﬂ?ﬂl




193.

| 194.

195.

-3

. P .
(3) Ais E"/BISZ

The weight of an empty balloon on a
spring balance is w,. The weight

become w, when the balloon is filled

with air. Let the weight of air it self
be w. Neglect the thickness of balloon
when it is filled Wit'h air. Also neglect
the difference the density of air inside
and outside the balloon :

(1)
(2)

Wo < W, +w
We =W+ W
Wy > Wl +w
(4)
A sphere 'A' is placed at frictionless
table. Another sphere 'B' is suspended

as shown in figure. Both the spheres are
identical in all respects. Equal quantity

Wy < W,

of heat is supplied to both sphere. All
- kind of heat losses are neglected. The

final temperature of A and B are Ta and
Ts respectively, then :

2 ¢

(1) Ta=Ts

(2 Ta<Ts

(38) Ta>Ts
(4) data is insufficient.

Al thin symmetric double convex lens
of power P is cut into three parts A, B
and C as shown. The power of :

) AisP,Bisg—
SRR -

(2) Ais2P, B 1s§-
.

) AisP,Bisg
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193.

194.

195.

ol TER HOFAMER o H A w,
TS Y@ FoEA A OAW AR, AR
wgéw%lqﬁﬂﬂwwfi
w B T TER AR d TER &
o g qEd &G H O b A< B
Big R &, o9 ¢

(1) we<w;+w
(2) wo=w;+w

3) wo>w,+w

4) wy<w, "
e A F R e R A9 9T <@l
T g g M OB # GEEopl

T R AN T B YRR § U o £ |
2 M HB OAHE SO & ST § A
THR FH SO BN TG & g MA A qU
B &7 ifs® aqq Ta @7 T &, 9 :

@ &

(1) Ta=Ts
(2) Ta<Ts
(3) Ta>Ts
(4) offFs T 7 2|

TH IqQ SHANT od @ T &Ear P
2138 I Redt A, BT C & REgER

e AT B | 9 eHar BN

4
(1) A% P B & g

(2) AP 2P aaTBc"nT%

(3) Aaﬁ% aanB-Esrg

A
A

4) AFP aaTBa‘?rg



Two points P and Q lie on either side
of an axis xy as shown. It is desired to
produce an image of P at Q using a
spherical mirror with xy as the optic
axis. The spherical mirror must be :

P _
< Q- d

(1) Converging and positioned with
left of P

(2)" Diverging and positioned with
right of Q |

(3)_ Diverging

(4) Converging, positioned to the
right of @

197. If water at 0°C, kept in a open

container 1is large

placed in a
evacuated chamber, then :
(1) All the water will vaporise.
(2) All the water will freeze.
(3) Some of the water will freeze.
(4) Ice, water and water vapour will
L be reached
equilibrium at the triple point.

formed and '

198. N identical cells are connected to
form a battery. When the terminals of

the Dbattery are joined directly,

current I flows in the circuit. To
obtain maximum value of I :

(1) All the cel]s should be joined in
.® series

(2) All the cells should be Jomed in
parallel

(8) Two rows of N/2 cells each should
be joined in parallel

(4) VN rows of VN cells each should
be joined in parallel given that °
VYN in an integer.
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199.

of their filament increases with the
increase in temperature. If at room
temperature 100W, 60W and 40W
bulbs have filament resistance Ry,
R, and R, respectively, then the
relation between these resistance is :
@ Ll . 1,1t

Ripo Ry Eeo

(2) Rygo =R4o + Reo

s 1 1
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200. A uniform chain of length [ and mass
m is placed in a smooth table with
one-fourth of its length hanging over
the edge. The work that has to be
done to pull the whole chain back into
the table is :
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